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____+45 =100
83 +_ =100
Q1 + = 100
100 - 24 =
100 - 35 =
100 - =12
100 - ____ = 30
100 - =5

Harry leaves school at

He gets home at

How long does he take to get home?
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~S_5 + 45 = 100 Harry leaves school at

g3 + | | = 100 Vs |_
a1+ 9 =100
100 - 24 =Tb

He gets home at

100 - 35 = (D .

100 - ¥ =12 C <)

100 - —'0 = 30 Z_s Y IS VV\W){M
“15 How long does he take to get home?

100 - =5
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a) What fraction of the whole jigsaw is | piece?

b) Danny removes 2 pieces of the jigsaw. What fraction does
he remove?

Is the answer the same no matter which pieces he removes?




a) What fraction of the whole jigsaw is | piece?

b) Danny removes 2 pieces of the jigsaw. What fraction does
he remove?

Is the answer the same no matter which pieces he removes?
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Lets imagine the cake as a bar model

The bar model has been divided into 10 equal parts

1 cake
1 whole divided by te

=1
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2 cakes shared between 10 people

lels represent the 2 cakes. 1 part from each must be shadec

There are 2 wholes moa
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Work Presentation

1. Write the question
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2. Complete part whole model
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3.0 Go back to the number

g =

sentence and write the answer







- Odd One Out

Annie has 2 cakes. She wants to share them equally between 10

people. What fraction of the cakes will each person get? - EEEEEEEE
There are cakes.
‘ They are shared equally between __people.
K POOD
IR 79 Each person has %of the cake. OO0 ’ *** :

What fraction would tht; get if Annie had 4 cakes?
Which is the odd one out?

Explain your answer.







Odd One Out

Annie has 2 cakes. She wants to share them equally between 10
people. What fraction of the cakes will each person get?
There are _2-_cakes.

They are shared equally between]g people.
of the cake.

POOD
0 |,

Each person has 0
2:10=2" [ageats

What fraction would they get if Annie had 4 cakes? &
10

Which is the odd one out?

Explain your answer.




